PLANT ENTERPRISES PRODUCTION						
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
COTTON						
Lint - Non-irrigated		8,369.0	825.00	6,904,425	lbs.	\$3,797,434
Seed - Non-irrigated		8,369.0	1,320.00	11,047,080	lbs.	\$552,354
Cotton (Total)	25	8,369.0				\$4,349,788
FORESTRY						
Pulpwood						
Pine				167,921	cords	
Hardwood				34,299		
Pulpwood (Total)				202,220		
Chip & Saw				50,003	cords	
Saw Timber						
Pine					board feet	
Hardwood				, , ,	board feet	
Saw Timber (Total)				9,928,439		
Total Pulpwood, Chip & Saw,	,					\$22,061,096
Saw Timber FOB Mill						
Total Forestry Stumpage						\$10,110,558
Christmas Trees	*			0	trees	\$0
Forestry (Total)						\$22,061,096
FRUITS						
Peaches	*	2.5	200.00	500	bu.	\$15,000
Fruits (Total)		2.5				\$15,000
FEED GRAINS						
Corn	8	2,071.0	130.00	269,230		\$611,152
Grain Sorghum	*	171.0	30.00	5,130		\$18,519
Oats	*	225.0	50.00	11,250	bu.	\$19,350
Feed Grains (Total) HAY FOR SALE		2,467.0				\$649,021

Page 1 of 4

PLANT ENTERPRISES PRODUCTION						
	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
HAY FOR SALE						
Grass	35	1,500.0	2.00	3,000	tons	\$150,000
Hay for Sale (Total)		1,500.0				\$150,000
HOME GARDENS	600					\$180,000
PECANS						
Improved	*	100.0	25.00	2,500	lbs.	\$3,250
Pecans (Total)		100.0				\$3,250
RICE	*	1,352.0	63.00	85,176	cwt.	\$681,408
SOD PRODUCTION	*	100.0			acre	\$540,000
SOYBEANS	15	4,558.0	35.00	159,530	bu.	\$990,681
WHEAT	7	84.0	30.00	2,520	bu.	\$8,190
TOTAL ALL PLANT ENT	FERPRISES			,		\$29,628,434

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION						
Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
FUR ANIMALS				40	pelts	\$294
ALLIGATORS (WILD) HUNTING LEASES				142	ft.	\$2,993
Waterfowl	20	3,000	No. Acres Leased		acre	\$150,000
All Other Game	30	200,000	No. Acres Leased		acre	\$1,100,000
Hunting Leases (Total)						\$1,250,000
HONEY	*	20	No. Hives	1,800	lbs.	\$1,332
TOTAL ALL FISHERIES &	WILDLIFE ENTERPRISES					\$1,254,618

Page 2 of 4

#### ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			399	head	\$176,713
400-500 lbs.			410	head	\$206,972
500-600 lbs.			637	head	\$356,131
600-700 lbs.			548	head	\$349,076
Steer Calves (Total)					\$1,088,892
Heifer Calves					
300-400 lbs.			319	head	\$128,610
400-500 lbs.			400	head	\$186,030
500-600 lbs.			350	head	\$184,742
600-700 lbs.			310	head	\$185,380
Heifer Calves (Total)					\$684,762
Yearling Cattle					
600-700 lbs.			405	head	\$257,985
700-800 lbs.			452	head	\$311,880
Yearling Cattle (Total)					\$569,865
Cow-Calf Pairs				pair	\$589,000
Cull Cows			462	head	\$189,713
Cull Bulls			128	head	\$117,562
Cattle & Calves (Total)	320	4,620 No. Cows			\$3,239,794
HORSES					
Brood Mares					
Show Horses	*	28 No. Brood		head	\$35,000
Recreation Horses	8	185 No. Brood	Mares 63	head	\$94,500
Brood Mares (Total)					\$129,500
Show Horses	*			head	\$100,000
Recreation Horses	650		950	head	\$1,425,000
Horses (Total) GOATS					\$1,654,500
00/110					Daga 2 of

Page 3 of 4

	ANIMA	<b>AL ENTERPRISES PRODUCTI</b>	ON		
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
GOATS					
Slaughter Goats			45	head	\$4,725
Stocker Goats			45	head	\$3,825
Cull Goats			10	head	\$600
Goats (Total)	8	70 No. Does			\$9,150
EXOTIC ANIMALS					
Llama	*	4 No. Animals		head	
Exotic Animals (Total)					
TOTAL ALL ANIMAL EN	NTERPRISES				\$4,903,444
CALDWELL PARISH	TOTAL				\$35,786,496